/ MATH / Secrior 15.3 — JELGTED FyeEN PROBIEMS @

2.50

/rif) /o//QVdev/v = /0/1/7_;(‘79“‘?/““
= / +u Y [/ﬂu)/ :”((f‘@ )

X’J—

/
2 by [ g

D= {foy): oexey ocyex

f e
/ ¢ X o/:z.\
[ (2 ok - L
- fo x5+/ [_L(Z_ ) o = - Jo  x®4/
s
U= X
- //’04, u = 5 X oK
B 2'5 0 C(‘/’/ y‘la/x: é.cdlu
b=/
- L | i
Yz /&("“’ﬂm = o0

e e bax
. //ﬂa@}: f/ X"'a?a&:,/ﬂ.é”é‘/x

(15:3) ) [ O
D"/@/)* rexe e, 045461)()

e e
/X%Xﬂfc—'félx/éxa& [ J /J’[Z’%ak
y77€ 4e—e¢+/ 3644'/
= ‘L[qj = '—72—-




R= ((X/y) a2 ye, yZxe4 )
-
/ éz //*x}“’/o/f %

—2
4

S L) e [
A Lyliry?) ¥

3,2 4 yzzj,__z_??—
:/6——/———]4 ‘—/""_]L-BA?’Z
/-
= /Z?‘-;-/%-— 2472
4 2336

- {1+ %= =27







